3-place deciral hurbers

Compare these decimal numbers.
Write < or > between each pair.

(12743 65 (4 4516
(2 0625 0-817 (3 0302

i 099 0-482

Write these decimal numbers in figures.
¢/ One one, nine tenths, three hundredths, two thousandths.
(i Six ones, four tenths, one hundredth, seven thousandths.
(:} Zero ones, eight tenths, five hundredths, one thousandth.
Two ones, three tenths, eight thousandths.
Six hundredths, two tenths, three ones, four thousandths.

Seven thousandths, two tenths, seven ones, three hundredths.

HINK How many 3-place d:ecimal numbers come
1;,))))) between 0:23 and 0:24? Write them all down.




(1 0672 0626 ' 6635 6-35I

€1 0404  0-40I & sl 5-07]
(3 0742 7-402 (3 9332 9-233

(:} Two ones, four hundredths, nine thousandths.

:l Six ones, five tenths, two thousandths.
@ Seven ones, seven thousandths.

(Il Six ones, seven thousandths, three tenths.

&:} Five ones, five tenths, one thousandth.

(4 0382, 0791, 0452 (3 2167, 0285, 1266

Which 3-place decimal number comes
halfway between 0-97 and 1-07?

I am confident with reudmg and wr ‘ng
T deamul numbers.



¢

Look to see
if it is more or less than
halfway between two
0-1 markers.
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How many I-place decimal
‘numbers round to 1?7 E

‘I am confident with ordering and rounding
decimal numbers.
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Roundthese ““mbers to the neanSt tenth.
(3 062
(148 Ch 1414 |

16-19

| 1283 @ 73 i
I

Write all the 2-place decimal
numbers that round to 2-5.

I'am ;oﬁﬁdent wnth orderihg_und founding
decimal numbers.




(I Draw a number line between 0 and 1.

e

Mark on: 0-45, 0:68 and 0-9.

{7 Draw a number line between I5 and 16.
Mark on: I5-75, 15-32 and 15-0I.

Draw a number line between 35 and 4-5.
Mark on: 3:85, 4°17 and 4-34.

‘Round these humbers 1o the nearest tenth.

mean you have
to round up?

umbers to the
(1 0123
(i} 0-465
If you write out every number between

0 and | as a 2-place decimal, how many
round down to 0? How many round up to I?

' I am confident with ordermg cmd roundmg
decimal numbers.

Which digits
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Jennie has been sent a mystery parcel. She must
work out its weight before she can open it. She

has the following information.

¢ The parcel’s weight is greater than 0 kg and less than Ikg.
¢ Written in kilograms, the parcel’s weight is a 3-place
decimal whose thousandths digit is not zero.

< The weight includes at least one digit that is a 5.

(I Work out how many possible weights

match the information above.

Is 1 . 1
10 100 1000
(0:1s) (0-01s) | (0-00ls)
0 < 0 I
0 5 0 2
0 5

D

(4 Jennie is given more information. The parcel
has a weight that has exactly two 5s in it.
Work out how many possible weights
now match the information you have.

Finally Jennie is given more information.
The grams part of the weight has two 5s
and a zero. The zero is not in the tenths place.
What is the weight of the parcel? Write your
answer in kilograms and then in grams.

Look at the table
and draw a similar
one with as many rows
as you need to show
“ Your findings.
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| ofanounisl
’ . Solve these divisions.
}l 1 a)744:6=]]
g ‘ Your
i b) 744 + 6 =[] - first answer
Q) 744+ 6= | in each group can
help you solve
2 a)528:4=[| the rest!
b) 528+ 4=[_|
c)528+4=[]
3 a)516 +3= ] 5 a)966:7=[|
b) 516 + 3 =[] b) 966 +7 =[]
516 +3 =] ) 9667 =]
4 0)963:9=[| 6 a)ll4s +8=[]
b) 96-3 + 9 =[] b) 144 + 8 = ]
€)963:9=] c) 44 + 8 = ]

Now solve these word problems.

7 Nolberto needs to save £555 for a holiday in six months’
time. If he saves the same amount each month for six

g months, how much must he save each month?

|" 8 MrJones wins £253 and decides to give it to his four sons.

o How much do they each get if it is shared equally?

9 Eight children go on a week’s holiday. They take a total

of £580 in spending money. If each child takes the same
amount, how much does each of them have?

e f ; § Choose the two questtons you found trick:est
' | und use multupl:catlon to check your answers

e Iam confldent \mth usmg dwusmn to fmd fructlons of
; .umounts e - Ke e et

80

R A ot g g .

T o T A e s

T T IR R T T




How much does each child pay?

Different groups of children in Year 6 choose different end-of-term
activities. Each group shares the cost of their activity equally.
Work out how much each child will poy

B e A A e g < it e e s

I
Totcll cost = £86- 40
g of £86:40 = [ |
2 4
,ﬁ
' Total cost = £48 00 Total cost = £|02 20" |

F:nd the fructlons of these dec:mul numbers.

To help you

@ 5l RHIER 0 “5“ of 3192 answer the question, i
6 Lotcaoso  m Lormsm ( mliphyiDerioo e

7 10f£356:80 12 3of86l6km \_"eN dc'l‘t"fheebeyng or 100

8 < of828kg 13 2 of 882 |

4 gof2025cm 14 Lof 62321 .

Is LY of 166 less than - of 1557 Estimate first . |

ALV R .
then work out both to check your answer. ¢ fom g

e Iam confldent with usmg dIVlSIOI’I to fmd B

E - ; fractlons ofumounts | o
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How much does each child pay?

Different groups of children in Year 6 choose different end-of-term
activities. Each group shares the cost of their activity equally.
Work out how much each child will pay

I [ 3
b
[-.
Total cost = £202-50 Total cost = £146-80
|
g of £202:50 =[]
2 4

Total cost = £58-80 Total cost = £131-40

Now solve these word problems.

5 A group of four friends go out for dinner. The bill comes to
£85-44. They decide to round it up to £100 as a tip. How much
does each person pay towards the bill, and towards the tip?

6 Aswin needs to save £554 for a holiday in eight months’ time.
If he saves the same amount each month, how much must he
save each month? If he saves £70 each month instead, how
much extra will he save?

7 Mr Jones wins £537 in a competition. He spends £86 on himself
and decides to give the rest to his four daughters. How much
do they each get if it is shared equally?

sy Is % of 777 larger or smaller than ;!I— of 8887 Estimate

{ first and then work out the divisions to check.

e Iam confident wit_li uSi'ng division to_fi_n_d frdct_iohs._ :
-of amounts. S il e R e
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Write out
the answers
to the divisor's
\ times table to
N help you.

-*:;nmh gits gus'}b%f 5 b j-j;
fuﬂb%ﬁ

i,

Use long division to solve these problems.

5836 + 24 =[_| 2% 144

e e 300 + 40 + 3,74 o . 188

' " 24]5836 2.

| Lsoo 96 216

. 1036 ) el
)

4

| 3699:24=[ ] 4 4578 +32=[ | 7 5876 :+23=[ |
2 6742+31=[] 5 2465+22=[ | 8 8764:26=[_|
'3 4678+:23=[] (6 6487:3I=[ | 9 4445 +22 =[]

10 Bottles in a factory are packed into crates that hold 24 bottles.
How many crates are needed to hold 3699 bottles?

Il A company must supply at least 4658 flashcards to a distributor
in 32 days’ time. The machine that makes the flashcards is
programmed to make the same whole number each day. How
many should it be programmed for?

12 A shop buys jackets for £26. How many of them can they buy
with £17457?

£ number endmg in 2 the cmg&ver never hc:s a
Is thls true7 Try snme d;v:suéns to flnd out
e Iam confldent wlth usmg I.ong div:s:on to dnnde 4- dlglt =

o humbersby2.digitnumbers. |



Set out these problems and solve them using long division.

I 2563 +33=[| 6 7253 :24 = | I 4024 +27 =]
2 5783:27=[] 7 6234:42=[] 12 7255224 =[]
3 5353:34=[] 8 7426:26=] I3 6666:34=[ |
4 6463 +42=[ | 9 3068+:27=[ ] 14 2652:27 =[]

‘5 2856 +33=[_| 10 932133 =[] I5 9678 + 42 =[]

16 A company must supply at least 4024 batteries to a distributor
in 27 days’ time. The machine that makes the batteries is
programmed to make the same whole number each day.

How many should it be programmed for?

17 A craftsman wants to make 1646 wooden
bowls over the next two years. How many
bowls should he aim to make each month?

I8 A shop buys mobile phones for £42. How
many of them can they buy with £1745?

19 In a chocolate factory individual chocolates
are put into boxes of 26. How many boxes
can be filled with 3643 chocolates?

P : ' 300l is divided by an odd number and has a remainder
\,E,ﬁm* of 5. What is the answer to the division?

Iam confldent with usmg long dwusnon to dlv:de 4- dlglt

P
s numbers by Z-dlglt numbers







